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[A]

T -1/ PART -1
91« {9 9 fRrenems / CHILD DEVELOPMENT AND PEDAGOGY

3T : Rt g7 % a7 &7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

1. Ffafea & 9 a9-9 fTem @ 98
fagwar 7 & ?
(1) fawma & oRads @xar @
() T T waa e |
A HEwEqel T &
(3)?25@1@25 Yo @A e

(@?ﬁﬁﬂﬁ%ﬂﬁﬂ%ﬁﬂmsﬁ

2. frefatad § & -4 &l & A9
=g v fafy & 7
(1) T i Feheiehl
(2) usEEt
(3) ¥% fee

(4) rEEh R

3. ‘T YT B STER 1 B © ¢
(1) | GRS
(2) X Ui
(3) ST (1) T (2)
(4) SR | q B el

4. Frefatad & | dH-G6F 9T &) Jed
sl fame yhR e i L
78 &7
(1) FATHbE
(2) STSMaT!

(3) I Wd F Sifah HEES
T

(4) T ® MR W S & 9T
S g

Level-3/9213

1.

3.

4.

Which of the following is not the
true characteristic of Development ?
(1) Development involves changes
(2) Early Development is more
critical than later development

(3) Development Patterns

unpredictable

are

(4) There are individual differences
in development

Which of the following is indirect
method of measurement of motives ?

(1) Sentence completion technique
(2) Questionnaire

(3) Checklist

(4) Interview

What are the basis of 'Self Concept' ?
(1) Social Roles

(2) The Body Image

(3) Above (1) and (2)

(4) None of the above

Which of the following is not the

characteristic of introverted thinking

type personality as given by Jung ?

(1) Self Centered

(2) Optimistic

(3) Absorbed in his own intellectual
pursuit

(4) Support Theory with facts

P.T.O.



[A]

16 a4 &% AY % A= H R
SRTRT foerer &1 STl & ?

(1) 750 I & 900 TH
(2) 1200 919 § 1400 7
(3) 1000 719 & 1200 7H
(4) 800 IH & 1000 IH

-4 FASE A AT IR
e it & Qafes 99 @
JeM+h &7 @ faae Teqa fom o ?
(1) it

(2) §Ft Tos &ve

(3) s

(4) X WG9 TMees

frefofeg & @ H9-91 T9@ENN &=
el qe § 7

(1) T4

(2) g

(3) YRR T SR
(4) gERHTT

frefofeg & @ #9-d
PRt d g QU T A
R & SUY @ed WX &

SR B 7

(1) T9€ TG STRHINT

(2) gmIiSTh STIeY

(3) ST TEHI/STBT Tshl
(4) FA AR IS e

134

Level-3/9213

[4]

. Which

. What is the approximate weight of

the Brain upto 16 year age ?
(1) 750 gm to 900 gm

(2) 1200 gm to 1400 gm
(3) 1000 gm to 1200 gm
(4) 800 gm to 1000 gm

Psychologist ~ presented
scientific description of 'Individual
differences' in his Book 'Hereditary
Genius' ?

(1) Allport

(2) Biggi and Hunt
(3) Jean Piaget

(4) Sir Fransis Galton

. Which of the following is Direct

Method of Adjustment ?

(1) Repression

(2) Regression

(3) Withdrawl and Submissiveness

(4) Rationalization

. Which of the following orientation

falls under the post convention level
of Moral Development Theory
propounded by Kohlberg ?

(1) Punishment and Obedience
(2) Social contract
(3) Good boy/Nice girl

(4) Law and Social order



10.

11.

12.

13.

fr=ifeifeg & @ H9-di fheRrEn &l
faQrar 782 ?

(1) GameHs ReRan
) R g g
(3) Fa9™T &I =

(4) g G i Ae

ST M AT B B HIT TR
ﬁmﬁﬁaﬁsﬁ%aﬁ@@w
TfeT, FHedAld &

(1) foegaey faeere
(2) ol fren wEwT (IEP)

(3) APRIAHE L

(4) 9T &Y

frafofea & & #=-w1 ot wfq &

qer FET e 7

(1) e

(2) NEd arer

(3) &

(4) 98 ERE & G g W SR
HET

Frefefad & | ®iF-a1 G99 9T
& dMIe oM Rera 8 g
e ?

(1) HisfeiT

(2) AFHT

(3) SR

(4) MBS SARFH
aﬁ—eﬁr?ranﬁﬁasna—vr%aﬂww

AUNHT B WA GY T TUSHIG
Rl & A U ¥ AR § 7

(1) 7-1-1 2) 1-7-1
3) 1-1-7 (4) 4-4-4

Level-3/9213

[5]

10.

11.

12.

13.

[A]

Which of the following is not the
characteristic of Adolescence ?

(1) Emotional Stability

(2) Contrasting Mental Moods
(3) Anxiety of Vocation

(4) Feeling of Hero worship

A statement of knowledge or skills

that student should master after

instruction, is known as :

(1) A content analysis

(2) An individualized educational
programme (IEP)

(3) An instructional objective

(4) General Aims

Which of the following is not the

symptoms of Good Memory ?

(1) Rapidity

(2) Average retention

(3) Accuracy

(4) Recall of right material at right
time

Which of the following concept is not
related with  Bandura's  Social
Learning Theory ?

(1) Modeling

(2) Adaptation

(3) Imitation

(4) Observational learning

What is the ranking ratio given by

Sheldon for predominant endomorph
person according to physique ?

(1) 7-1-1 2) 1-7-1
3) 1-1-7 (4) 4-4-4

P.T.O.



[A]

14

15.

16.

17.

18.

. R F AR ‘A e
%l el e -G e ?

(1) aRe™ BErar g9 g9
(2) 9BdM SFM Yo Hifel
(3) Fmedr aM faeT

(4) I g9H ReRar

Frefafed & & aF-w fowe a@
Yo GoTTeTRdl B O 787 & ¢

(1) et (2) STHaA

(3) T (4) A
frefefeg & @ @®9-a1 ofrm &
gITCeh TMTROT & YR 7e & ?
(1) II9d TR

(2) HiHEH R

(3) BifeeT =

(4) I SRR

Frefefed & @ &9-d1 BEs &1
Ue TR ST J87 8 ?

(1) QAgTEEeT

(2) T@E ST

(3) TETEET

(4) EmEeE

e ®Er & ‘“oMifee Shifed
Sig-SJall & X & G s
g ?

(1) &X fafead Aepg

(2) 9 WifeE e

(3) Ao TEEHEY

(4) faferm si=

Level-3/9213

[6]

14.

15.

16.

17.

18.

Which is the fifth stage of Personality
development according to Erikson ?

(1) industry v/s inferiority
(2) identity v/s role confusion
(3) intimacy v/s isolation

(4) generativity v/s stagnation

Which of the following is not the
element of creativity as given by
Guilford ?

(1) Fluency
(3) Flexibility

(2) Incubation

(4) Originality
Which of the following is not the
type of positive transfer of learning ?
(1) Lateral transfer

(2) Sequential transfer

(3) Horizontal transfer

(4) Zero transfer

Which of the following is not the
Freud's Psychosexual stage ?

(1) Phallic stage

(2) Autonomy stage

(3) Anal stage

(4) Oral stage

Who stated that "Psychology is the
Positive Science of conduct of living
creatures"” ?

(1) Sir William McDougall
(2) Sir Francis Galton

(3) Max Wertheimer

(4) William James



19.

20.

21,

22,

fr=ifoifeg & | S9-a1 e a=fem
T o o gl fafr 787 2 ?

(1) a9 gRecs & & srear dimr
# fafy

(2) R SEue i fafy
(3) Jraa sfe@T AT e H
(4) =T ARy & aRersH

@ FM & WY, A T
YAETeH & SR & & T SR
3 g8 feied d | fees gies

B TATT e 8 °
(1) = (2) AR
(3) WIS (4) 93T

U SO & e A o it
P WA G de F Tgaad D,
B9 H Sgaed Bedd, U9 @
SgaeH U9 I HA 4 el 7 Ae|
T SgaET el § AeHE S A
TE fhH THN & HARFH MR 6
JEEI B 7

(1) ST ST

(2) FMHE T

(3) g AR

(4) S S

Level-3/9213
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19.

20.

21,

22,

[A]

Which of the following is not the

type of "Psychophysical Method" of

study of Educational Psychology ?

(1) The method of minimal changes
or method of limits

(2) The method of constant stimuli

(3) The method of average or mean
error

(4) Modifying
attitude

the individual

'Knowledge is constructed by
transforming, organizing and
re-organizing previous knowledge.'
This best explains the idea of which
of the following ?
(1) Piaget

(3) Freud

(2) Vygotsky
(4) Bandura

According to the  Cognitive
Development Theory of Piaget, "The
basic building block of knowledge' is
called :

(1) Schema

(2) Assimilation
(3) Accommodation
(4) Equilibration

An English teacher taught their
students that plural of Cat is Cats,
plural of House is Houses, plural of
Pen is Pens, in this manner student by
mistake made plural of Mouse as
Mouses. This is the example of which
type of transfer of learning ?

(1) Positive transfer

(2) Negative transfer

(3) Zero transfer

(4) Vertical transfer

P.T.O.



[A]

23. fFefofad & @ d9-@1 SEU &

Ty /T faRe § 7
(1) AR

(2) ITed

(3) fomma

(4) TET I Ity

24. X BN SloUled  “UERE =E
Rt A K | s G B TR o1 A e et o B

deft 7

(1) it o1 Res=t

(2) 9 T JhR s
(3) UK f¥gT=

(4) AAaeATTeh e

25. fSeffad & & H9-91 ‘99W AFRS
e gl H e Al TR © 7

(1) 52 & 67
() 36 9 51
(3) 20 ¥ 35
(4) 20 § =

26. Ffofad § & HHE-81 TSR
Yo afdde [ 8g offes Al
TER &l T ?

(1) e ergy
(2) AEHE TEW
(3) fompeHt ergy
(4) TEEHL MEA S e ST

Level-3/9213

[8]

23.

24.

25.

26.

Which of the following is objective
determinants of Attention ?

(1) Interest

(2) Habit

(3) Curiosity

(4) Duration of stimulus

Murray's "Thematic Apperception
Test" is related to which theory of
personality ?

(1) Trait theory

(2) Trait and Type theory
(3) Type theory

(4) Psychoanalytical theory

Which of the following is 1.Q. Range of
'Moderate mental retarded' children ?

(1) 52to 67
(2) 36to 51
(3) 20to 35
(4) below 20

Which of the following is not the
type of life styles for the
development of personality given by
Adler ?

(1) Lazy type

(2) Ruling type

(3) Go-getting type
(4) Escaping type



27.

28.

29.

30.

Ao @@ g1 qhee § feew wiE
@ & fw o 8 ?

(1) 10

2) 12

(3) 15

(4) 28

Freifafad & @ @F-a1 9l & gie
9 @] 3 R ™ atka &7
JhR TET 8 ?

(1) Jsrt<as
(2) omfidie
(3) FHATTE

(4) el

frafafag & 4 sF-a1 dHSES 3™
Ue STRRTH T MoT/Herdsh a9 & ?

(1) deaXa &1 e
(2) IHE F |
(3) "R ght &1 FEH
(4) U9 H |

frfofag & @ d9-o feaimaeen &t

T8l faQuar 7&f e ?

(1) fpaaeen ST AR
%mww%ﬁaa%qﬁa?ﬁaw
|

(2) fpaivaen # wH ST RIS
feafy Bt 1

(3) fraiaen JgEEET 1 &
B B

(4) FRINEEN  grdiGaett @ {HY
B B

27.

28.

29.

30.

[A]

How many cards are wused in
Rorschach Inkblot Test ?

(1) 10

2) 12

3) 15

4) 28

Which of the following is not a type
of Personality given by Sprenger in
values point of view ?

(1) Theoretical
(2) Economic
(3) Asthetic
(4) Athletic

Which of the following is the
subordinate law of learning given by
Thorndike ?

(1) Law of readiness
(2) Law of exercise
(3) Law of mental set
(4) Law of effect

Which of the following is not the

true characteristic of Adolescence ?

(1) Adolescence is transitional stage
between childhood and
adulthood.

(2) In adolescence there is a vague
individual status.

(3) Adolescence is the threshold of
adulthood.

(4) Adolescence is a time of realism.

Level-3/9213

P.T.O.



[A] [10]
ART- 11/ PART -1
A1 (R= ©F 3fISH) / LANGUAGES (HINDI & ENGLISH)
[ &=/ HINDI ]
3T : R g7 % a7 &7 & [ qag ST [wey g

31. foare® @M g a9 iy 35. Fr=1 ¥ @ ‘9 H w@E 78 & ?

(1) a9 o< oT¥s  Jad & (1) gdaH (2) Brl

Eﬂtﬁ %l (3) T 4) @—a
(2) TED T & T S - ,
o 5 ot 36. Slfcrareh Hel YeRd AR 7@ ©

(3) ST T 3 G'TQ' (1) STeThet &1 TeTgdl 9gd e &

(4) 39 gV T T (2) SOl A E A wEar & O
32. i gie & orger fsed T - BT

| 3) FW-F A & SrEEA

(2) AT STt 2

) (4) H orgwa fpr B 65 o8 SR @

ORI <X T B

@ 37. fd faseq # oM &Y &1 W 787
33, feim a1 gfe & o A A g ® 7

Bifex (1) s (2) arieR

(1) SS-=reT (3) e 4) e

(2) ATH-IFHEA

(3) TR 38. & A B AT HIOT :

(4) TehR-FaER (1) T& FM Fis Jhid d & B el

gl

34.2;:;1@5?‘36’%%9@1%? ©) ¥ T e B

(1) o ©2) TR (3) YA SEET &8 B H HFA B

(3) BT (4) Sfed 4) & & & A g B

Level-3/9213




[11] [A]

39. 9N F 3fc q oG fabed Bifey 43. fpa faseq & srerdivE w99 ® °
(1) FI¥T - BT TgE (1) ferdiesr
(2) Ho-TEHN - H9ER &4 (2) FANGEF
(3) FmIE - STURM qgeT (3) sTqERar
(4)F‘|Ti-r|ﬁ_zb_l§|EREF‘;lsr (4)@'@:{
40.WQT%WQEFQE3€[§WQ i & 7 IR :
P o 44. TTF % I @ FFGIT g+
(1) ToT + 3% = TERYS
(1) TREl %1 & =TI oW el g .- .
TEA HAT - A<TH (2) I + 3% =
(2) FEEHR T ST AT S ©) e
e (4) TR + 9 = utE"
(3) fom fobell ey & - ST 45. T fobew & ‘o IUEE BN IENT gOT
(4) T8 o9 R @ § - i &7
, S (1) e
41. ANREd GEAEES :
, (2) g
() fBd ad & gam d 3@ SR
e 7 g (3) s
(2) Gt & dhrgr-a T9F e (4) ST

(3) R %M Jo & FHIA B
(4) GR 3T SAHATE B I T B

42. THHE fhAT gHT a9 AT
(1) FrEmr q4kT % 9’ e © 4
(2) wBfeEr aeme § 4T @ 2
(3) o1E% HSH W 2T T© o

OEGEE FERECERICSIE

Level-3/9213 P.T.O.
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46.

47.

48.

[12]
[ 3135ft / ENGLISH ]
Direction : Answer the following questions by selecting the most appropriate option.
Choose the part of sentence that is 49. Fill in the blank with the correct
grammatically incorrect : present perfect continuous tense :
That's twice I've been forgetting to Who ...... was coming to see me
bring my diary to work this week. this morning ?
(1) That's twice (1) you should say
(2) I've been forgetting (2) did you say
3 did said
(3) to bring my diary (3) you did sai
i (4) did you say that
(4) to work this week
o ) 50. Fill in the blank with the correct
Fill in the blank with the correct f . )
fon - present perfect continuous tense :
OpHon - . He ......... for five hours.
Of the two Novels, this is ............. . (1) been slept
(1) interesting (2) is sleeping
(2) more interesting (3) been sleeping
(3) interested (4) has been sleeping
(4) much interesting .
51. Fill in the blanks :
Change the narration : The growing number of visitors
He said, "I've been spending a lot | = the footpaths.
more time with my children." (1) are damaging (2) is damaging
(1) He told me that he had been (3) were damage (4) was damaged
spending a lot more time with o )
52. Fill in the blank with the correct

his children.

(2) He told me that he is spending a
lot more time with my children.

(3) He told me that he had spent a
lot more time with his children.

(4) He said that he spends a lot more
time with his children.

Level-3/9213

present perfect continuous tense :
She is one of the few people ........ .
(1) who I look up to

(2) whose I look up

(3) T'look up to

(4) Both (1) and (3)



53.

54.

55.

56.

Choose the option and arrange the
following sentence in the correct
order :

I.  Resigned

II. To sack him

III. Had he not

IV. We would have been forced

(H IV, 1ILILT (2) ILIL LIV
3 IV, ILLII 4) IOLLIV,II

Change the sentence into passive :
Someone has picked my pocket.

(1) My pocket is picked.

(2) Somebody picked my pocket.
(3) My pocket pick by somebody.
(4) My pocket has been picked.

Choose the grammatically correct

sentence :

(1) No reached the
station and the train arrived.

sooner Wwe

(2) No sooner did we reach the
station than the train arrived.
(3) No sooner did we reach the
station then the train arrived.
(4) No sooner did we reach the

station the train arrived.

Fill in the blank with the correct
option :

............ , they slept soundly.

(1) Hot though was the night air

(2) Hot though the night air was

[13]

57.

58.

59.

60.

[A]

Fill in the blank with the correct
present perfect continuous tense :

thinks that Julie should be
given the job.

(1) neither of us

(2) practically everyone
(3) A no. of people

(4) both (1) and (2)

To have 'a bee in the bonnet' means :
(1) to know perfectly

(2) something you are obsessed with
(3) not to take anything seriously
(4) to deviate from the point

Choose the part of sentence that is

grammatically incorrect :

The world's supply of oil is soon
running out.

(1) The world's
(2) supply of oil
(3) 1s soon running out

(4) both (1) and (2)

The word 'juncture' means :
(1) in a joyous manner

(2) to put in danger

(3) to sound harshly

(3) Hot was the night air that (4) point  rendered critical by
' t
(4) Hot although the night air was cireumstances
Level-3/9213 b1 o,



[A]

[14]

HET -1/ PART -1l
Y 99 / GENERAL STUDIES

[ A ARG, dliche SARTEHCT TRl | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : Rt g7 % a7 7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Th HT AW H, 'DISTANCE'
'IDTATOEC' fer smr 2 &R
'DOCUMENT' @& 'ODDMUFTN'
forn S B, @ 3 9 e A g,
'THURSDAY' &t for@n s :

(1) HTRUDSYA

(2) HTVSREYA

(3) UHVSTEYA

(4) VIRUDSZB

FAG 10 HeX I B AN F@@l 2
Il ¥, T8 IR B R 6 HeX T
3l Y a8 q@ &t ofX 3 X =
3l T A JEANT fg & Hew d
P Ram A 8 ?
(1) uf3=™

(2) SRT-uiEd
(3) -

(4) =@

yqq a¥ § % Aa
# gha & S T
5% ' HH B S Bl AR
IV H SWEEr 79,800 o,
g H OMCH § HGE

(1) 79,800
(2) 80,200
(3) 80,000
(4) 79,600

Level-3/9213

61.

62.

63.

In a code language, 'DISTANCE' is
written as 'IDTATOEC' and
'DOCUMENT"' is  written  as
'ODDMUEFTN', then in same code
language, 'THURSDAY' will be
written as :

(1) HTRUDSYA
(2) HTVSREYA
(3) UHVSTEYA
(4) VIRUDSZB

Kamal walks 10 m towards North.
From there, he walks 6 m towards
south. Then he walks 3 m towards
East. In which direction is he with
reference to his starting point ?

(1) West

(2) South-West

(3) North-East

(4) South

In the first year, the population of a
village increased by 5% and in the
next year it decreased by 5%. If at the
end of the second year, the population
was 79,800, what was it at the
beginning of the first year ?

(1) 79,800

(2) 80,200

(3) 80,000

4) 79,600



64.

65.

66.

67.

68.

69.

70.

i M (o e S | G L L
1CV, 5FU, 9IT, 15LS, 170R

(1) 5FU (2) 9IT

(3) 15LS (4) 170R

& Fe A Bt 2 3 3 o &

(1) 27: 20
(3) 4:9

(2) 20:27
4) 9:

(2) &=

(3) 9fa (4) |gx

qul H HH S&d (SN qT U a9
H TH T W B
'HEARTLESS' ffa @@= drdfe g<af
§ fomfora feam o g & °

(D1 (2) 2

3) 3 “4) 4

s W ¥ 27% faerft oReh #
I gU AR 38% fasme # orwt
W, A 19% I R F ergw
g, @ 2T fawdt & S B gfed ©
(1) 46% (2) 54%

(3) 62% 4) 81%

fr=1 g Aoft & o wE F

20, 20, 19, 16, 17, 13, 14, 11, 2, 2
(1) 10, 10 (2) 10, 11
(3) 13, 14 4) 10,9
TF Al 90 » QUi f&em 7 13
fpt o e @ Rew & 28 ol W@
I &Y B 9R 5 HS &H W Al
B U T o ?
(1) 1v5 st /99er (2) 2 fHt /g0er
(3) 2V4 fpHt /g9er (4) 3 At /g0eT
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64.

65.

66.

67.

68.

69.

70.

[A]

Find the wrong terms of the

following series :

1CV, 5FU, 9IT, 15LS, 170R
(1) SFU (2) 9IT
(3) 15LS (4) 170R
The radii of two cylinders are in the
ratio 2 : 3 and their heights are in the
ratio 5 : 3. The ratio of their volumes
are :
(1) 27:20 (2) 20:27
3)4:9 4 9:4

Mr. X said about Mrs. Y, "Mrs. Y is
the wife of the grandson of my
mother." How is Mr. X is related to
Mrs. Y ?

(1) Father (2) Grandfather
(3) Husband (4) Father-in-law

How many independent meaningful
words can 'HEARTLESS' be divided
into without changing the order of the
letters and using each letter only once ?
(11 (2) 2
3) 3 4) 4
In an examination, 27% students failed
in English and 38% failed in Science.
If 19% failed in both the subjects, then
the percentage of passed in both the
subjects is :
(1) 46% (2) 54%
3) 62% 4) 81%
Next terms of the following number
series are :

20, 20, 19, 16,17, 13, 14, 11, 2, ?
(1) 10,10 (2) 10,11
3) 13,14 4) 10,9
A man rows upstream 13 km and
downstream 28 km taking 5 hours
each time. What is the speed of
water ?
(1) 1¥2 km/hr
(3) 2% km/hr

(2) 2 km/hr
(4) 3 km/hr

P.T.O.
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71

72.

73.

74.

75.

76.

I 9m 1 q 100 d% F W Ol
ferear B, @ a5 fhaet 9X 3 e ® °

() 19 (2) 11 (3) 20 (4) 21

A, B Sgrg s&e C XD, E @
REEAMCHTIA T & &R
C,BA g g a = & & -4
HIT TETH &9 ¥ FT R ?

(1) A, C q 93T 8l

(2) C,D ¥ g1

(3) D,C q 921 2l

(4) E,B ¥ g1

M, T, R, K X D & ud% &I @9
AT E, M dad T @ 87 3 X D
A K § @1 81 31 9 d9u asd
T AT B B 7

(T @D B)M @R

BES)

- ~ & qY S B
3 1
[
4 3
11 1
M 2 @) 2=
11 1
3) 35 4) 3§
e q qgeq, o @ ey SEd o
F oMy H R B a= ad g,
fUer & g I8 T B Ag W 7
T i R @ g oy @
(1) 40 g (2) 3094
(3) 50 a (4) 4579

qide fRem @ R B IR IET B
frg Remd & ?
(2) aferor

(1) T
(3) uie=m 4
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71.

72.

73.

74.

75.

76.

If Shyam writes down all the integers
from 1 to 100, then how many times
does he write 3 ?

(H 19 2) 11 3) 20 @) 21

A is elder to B while C and D are
elder to E. E lies between A and C
and C is elder to B, then which of the
following statements is necessarily
true ?

(1) AiseldertoC.

(2) CiseldertoD.

(3) Diselderto C.

(4) Eiselder to B.

Among M, T, R, K and D, each
having a different height, M is shorter
only from T and D is taller only from
K. Who will be the third tallest person
among them ?

IO T @D 3 M 4R

HEC)
BED)

The square root of

is equal to :
11 1
1) 2— 2) 2—
(D D (2) 5
11 1
3) 3— 4) 3—
3) B “4) B

After 5 years, father's age will be
three times of his son's age. 5 years
ago, father's age was 7 times of his
son's age. The present age of the
father is :

(1) 40 years (2) 30 years
(3) 50 years (4) 45 years
A man is performing yoga with his
head down and legs up. His face is
towards the west. In which direction

will his left hand be ?
(1) North (2) South
(3) West (4) East



78.

79.

80.

81.

82.

(1) 15 o & 918
(2) 12 o & 91
(3) 14 o & 918
4) 16 o & 9%

10% aiffes &9 & W Srsdial
ThlE BT X 800 BUY H TH T
926.10 &9 fhaw a¥ & s A ?

(1) 39 ) 1 a9

(3) 4v» a9 4) 2 a9

8, 15 aX 24 ¥ fauig am am
A T HE R B

(1) 120 (2) 1800

(3) 3600 (4) 6400

I 6 YT A f9hT gd, 8 Al & A

g%w%,a‘rwmﬁrrﬁm

(1) 25% @ (2) 25% &=

(3) 33%%31% 4) 33%%@1
AT % W Ted 68 W9 oM
RN & A (STeE) B & 7

(1) fepra I

(2) T G

(3) Glo A= @

(4) dlo dio THo o YA

BRATT 3G STHEH & ST D © 7
(1) M= TR

(2) HP& q8q

(3) =X P

4) QI 9
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77.

78.

79.

80.

81.

82.

[A]

Two taps A and B would fill a tank
completely in 30 and 36 minutes
respectively. Both taps being
opened, find when the tap A must be
turned off so that the tank must be
just filled in 18 minutes ?

(1) after 15 minutes
(2) after 12 minutes
(3) after 14 minutes
(4) after 16 minutes

In how many years will a sum of
Rs. 800 become Rs. 926.10 at 10% per
annum interest compound half yearly ?
(1) 3 years (2) 1%z years

(3) 4Y2 years (4) 2 years

The least square number, which is
divisible by 8, 15 and 24 is equal to :

(1) 120 (2) 1800
(3) 3600 (4) 6400

If the selling price of 6 pens is equal
to the cost price of 8 pens, then
profit/loss in percentage is :

(1) 25% profit  (2) 25% loss

(3) 33 % % loss (4) 33 % % profit

Who is the Chairman of the newly
constituted  6th  State  Finance
Commission of Haryana ?

(1) Vikas Gupta

(2) Rajesh Khullar

(3) P. Raghvendra Rao
(4) T. V.S.N. Prasad

Who is the vice-chairman of Haryana
Urdu Academy ?

(1) Gopichand Narang
(2) Kumud Bansal

(3) Chander Trikha
(4) Suraj Bhan

P.T.O.



[A]
83

84.

85.

86.

87.

88.

89.

90.

. BREem ¥ W @He @ Hed el
arafted § 7
(1) ®UEEE (2) aQNTa
(3) &I (4) T®
HTaeT Gdl § W@ Ysh foerdr @l
BRI TR &N &l S arl JOeRe
i 2
(1) & *3g
(2) & Fg
(3) TEER @
(4) 3% g

1857 % fomle & 3N Asas &M
foreedier @I o ?

(1) 99 R (2) s=go $89
3) TeH A (4) BB

g T, S % T g ©
(1) AT (2) afee

(3) A& 4) 3=

‘TeFpy @ RO & B9 N H
Reg 2 7

(1) JeT% (2) deg

(3) HEIA (4) DT

R fagraT, S st 2019 &
A B 9 e H W R

(1) 124t (2) 134t

(3) 144t (4) 154t

M BMe @ B & H fhE TS
@R § T 6 T 8 7

(1) ZTEE e

(2) TS TS

(3) elE T T T S1as

(4) HME< e

fre 9T & IR AW & or ?

(1) "e=TTe
(3) HIA

(2) ST
(4) GFg
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83.

84.

85.

86.

87.

88.

89.

90.

Where is the palace of Begum Samru
located in Haryana ?

(1) Faridabad  (2) Sonipat
(3) Gurugram (4) Rohtak
The award is given by the Haryana

Government to the gold medal winner
in the Commonwealth games :

(1) Three crore

(2) Two crore

(3) Seventy Five lakh

(4) One & half crore

Who was the Collector of Rohtak
during the uprising of 1857 ?

(1) Thomas Semton (2) W. Eden
(3) Adam Loch (4) Hudson

Rivulet, which is one of the tributary
of Ghaggar :

(1) Chautang (2) Sahibi
(3) Dohan (4) Indori

In which district of Haryana "Tikkar
lake' is located ?

(1) Rohtak (2) Panchkula

(3) Karnal (4) Kaithal

The assembly of Haryana, which has
been constituted after the election of
October, 2019 :

(1) 12% (2) 13"

(3) 14" 4) 15"

Vinesh Phogat is recently honoured
with which National Award ?

(1) Dronacharya Award

(2) Arjuna Award

(3) Rajiv Gandhi Khel Ratna Award
(4) Dhyanchand Award

Which city has its ancient name as
Kanaud ?

(1) Mahendragarh (2) Ambala

(3) Kaithal (4) Sonipat

Level-3/9213
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[A]

AT - IV / PART - IV

iR frer/ PHYSICAL EDUCATION
3T : R g7 % g7 &7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

o1.

92.

93.

94.

e & ATAR THRIAGE B €

(1) 9ie X W g MR

(2) TR SR FHR

(3) UsfigR IR V H&E # IR
(4) GFFT SR oTEH

HF-8 DI B HAON TR B
T BEIAoT &l ST & ?

(1) Sl AR Gedid & Higal &
(2) Jefed oIk A & Hierl H
(3) TR AR A & HAA A=
@) S AR TEHE & HIA H

ag quive e S sRe e
TiTEToT HERY HI AT e B -

(1) T ek STgeea o REe
aRTg

(2) U STeATsh {3 ey

(3) T qiFA SR FeE aRug

(4) fasaieamg orger ST

2024 & WwdRiE  ofidfus S
AT [ SR

(1) < ) iRE H
(3) Rew ® (4) sifT o
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91.

92.

93.

94.

As per Sheldon's view Ectomorphs
are :

(1) Bulky and stocky body

(2) Thin and slender frame

(3) Muscular and V shape body

(4) Active and Attractive

Which combination of skills reflects
the negative transfer of training ?

(1) Playing skills of Hockey and
Football
(2) Playing skills of Badminton and

Tennis

(3) Playing skills of Squash and
Tennis

(4) Playing skills of Judo and
Taikwondo

The statutory body which regulates

the Physical Education Teacher

Training Program is :

(1) National Council of Educational
Research and Training

(2) National Council for Teacher
Education

(3) National Assessment
Accreditation Council

(4) University Grants Commission

and

Summer Olympic Games, 2024 will
be hosted by :

(1) Tokyo
(3) Rio

(2) Paris
(4) Beijing

P.T.O.
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95.

96.

97.

98.

99.

fT@ @1 o R @ QR @
ey @ = ufkar & wWrew A
ST T B

(1) JEU Afcishan Twrg

(2) AT Y& SA:foha

(3) BE-Rew kA

(4) FAB TR

TEE O e R, 20197

feperepr feam T ® ?

(1) TH ART @Wed T Hesyd
&

(2) M WH BESIH &l

(3) I [ g% &

(4) 39 ST FISSIH Rl

MvEEET 9 |97 S D
(1) T (2) T
(3) g (4) U

iR fen § e ffy & dest
1 & @ P-a1 e 9l 78 27

(1) g& aifes emar fasefad &C gahdn
2

(2) g8 319 fohid ®T T B

(3) & UHd<H SR B

(4) BE TFHT T8 T© Tl

Hiee Tueiel § BN a @ A
2 7

(1) SAfeaNRIEE

(2) =9 I9 B

(3) SIFvamg e ax

(4) | fJew T2 &
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95.

96.

97.

98.

99.

Drill is meant to discipline body

movement's  through repetitious
process of :

(1) Stimulus Response Bonding

(2) Individual Group Interaction

(3) Teacher-student Interaction

(4) Classical Conditioning

'Rashtriya Khel Protsahan Puraskar,
2019 the  'Sports
Development' category was given to :

for for

(1) Gagan Narang Sports Promotion
Foundation

(2) Go Sports Foundation

(3) Rayalseema Development Trust

(4) Esha Outreach Foundation

Goniometer measures :
(1) Flexibility (2) Speed
(3) Strength (4) Agility

Which of the following statement is
not correct regarding lecture method
in Physical Education ?

(1) It can develop reasoning.

(2) It can develop knowledge.
(3) Itis a one-way process.
(4) Student become passive.

What are the health concerns for the
female athletes ?

(1) Osteoporosis

(2) High weight loss

(3) Irregular menstruation

(4) All options are correct



100.

101.

102.

103.

104.

105.

gegdliedl  Headiadl Ao
TG T H- © 7

(1) 4x 10 e

(2) 9= 1 e @

(3) %TH 12 e T/Ai® wlem
(4) e i e ogd

Pt & | -8 3ave drad 78 ©

(1) fa9y SAftrm e
(2) faw Sifss Faa
(3) a9y wisfeqa Frarar
(4) TORIY JeRie A

RS ™ § d9-ar Afawg 9
A ®Y § HEAW @A § 7

(1) 9= o

(2) @O

(3) TEIIehE T

(4) AU o

TERREN 3tHd TR BT o ¢
(1) STataar & (2) SIFTiteE ®
(3) Sl | (4) By |
B THAL H M B
OESIEES

(2) TeEftEE

(3) (Feq ARG

(4) EAINEES

‘@’ Iqd H HET ©

(1) STarus S &

(2) IRiEE @ 9

(3) THRE Qa9
(4) MiEE St 9
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100.

101.

102.

103.

104.

105.

[A]

Which one is most suitable test to
measure Cardiovascular endurance ?
(1) 4 x 10 Shuttle Run

(2) Bent Knee sit ups

(3) Coopers 12 minute R/W test

(4) Straight Knee sit ups

Which of the following is not a
tactical ability ?

(1) Special learning ability

(2) Special intellectual ability

(3) Special volitional ability

(4) Special perceptual ability

Name the organic system that hardly
takes part in Physical Exercise :

(1) Digestive system

(2) Respiratory system

(3) Cardiovascular system

(4) Muscular system

Pythian festival was held at :
(2) Argolis
(4) Corinth

(1) Olympia
(3) Delphi
Calf muscle is the name of :
(1) Clavicle

(2) Gastrocnemius

(3) Rectus Femoris

(4) Sternomastoid

God 'Zeus' is related to :

(1) Olympic Games

(2) Pythian Games

(3) Isthmian Games
(4) Nemean Games

P.T.O.
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106.

107.

108.

109.

110.

aie faenfeat &1 wiakear g f6d
yichdT ST W91 ST & 7

(1) M+E RuwE =z o

(2) T @ & RuRM TB@H

(3) Je RuRE &R o

4) RuRF g TR =

gﬁamwﬁw’aﬂaa? HY F

?

(1) TR, Y& 9F, R,
TS O

(2) s U Tl  9REm,
THIHT, J& AN

(3) TEHIHRI, UREE, eI 9F, ds
UINEIE

A9
(4) TR,  dREE, g 9,
LRI CRCK|

TR O % oWk ® @9 § Y
ST ST § °

(1) o Sito o Hid

(2) HERET IR e

(3) TSTHAN ST B

4) R & e

T6T O fied, 2019 W) fEniat &
for fsafeened ofgeM EN S Al
gﬁwﬁﬁﬁa?cfﬁ%raﬂ%ﬁmw
?
(1) ®9 § &9 5000 HIH
(2) A 9 F9 2000 FHaH
(3) ®9 § FHF 10000 FHEH
(4) A 9 F9 1000 FH3H

B & H A @ U Td e @
g H g 3 Ao § B 7

(1) a4l 3T

(2) U

(3) go THo To

(4) U
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106.

107.

108.

109.

110.

Reaction time in elder player is
measured by :

(1) Groningen Reaction Time Test
(2) SVT Reaction Time Test

(3) Batak Reaction Board Test

(4) Reaction Stick Timer Test

What is the right sequence of 'skill

lesson plan' ?

(1) Assembly, Main part,
Introduction, Recreational game

(2) Lead up activity, Introduction,
Assembly, Main part

(3) Assembly, Introduction, Main
part, Lead up activity

(4) Assembly, Introduction, Main
part, Recreational game

Who is known as founder man of
Asian Games ?

(1) Prof. G. D. Sondhi

(2) Maharaja Yadavinder Singh

(3) Rajkumari Amrit Kaur

(4) Pierre De Coubertin

On the National Sports Day, 2019,
how many steps during walk has
been urged by University Grants
Commission for the Students ?

(1) Atleast 5000 steps

(2) Atleast 2000 steps

(3) Atleast 10000 steps

(4) Atleast 1000 steps

Which country has recently declared
'"Yoga' as a sports activity ?

(1) Saudi Arab

(2) Nepal

(3) USA

(4) Israel



111.

112.

113.

114.

g1 & 91 gE-1 & e Y ofX
A U MU e w1 IWER W qEl
I G

-1 -1
L S« fafeer () T 9%
M sfiid Rfeer (i) 9RrEEt
N e Rifbe (i) Havar &M
O du ffeer  (v) fid I«
&< -
L M N O
(D) @) @Gv) G (@)
(2) ) @  Gv) (1)
(3) Gv) @) @) (1)
@ O () @[v) (i)

33 M R A6 STSe UAInT

(1) 21 2) 1

(3) 31 4) 32

frefofeg & @ $9-a1 siRe e
& ENOH &9 8 7

(1) eTestars (2) Sl

(3) edar (4) FIERATE

6 STFH H YO @ GEMIHE
FHT ¥

(1) USRI ® 491G

(2) AR

(3) FIET H a4 § qRaad

(4) S} =
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111.

112.

113.

114.

[A]

Match List-I with List-II and select

the correct answer using the Code

given below :
List-1 List-1I

(i) Hot fomentation

(i) Ultrasound

(iii) Whirlpool bath

L Hydrotherapy
M Cryotherapy
N Electrotherapy

O Thermotherapy (iv) Cold
compression
Code :
L M N O
(D) @) @Gv) @G @)
(2 Gy @  >4v) (i)
3) Gv) @) @) (i)
@4 @® G @G4v) ()

Total number of Byes will be in First
round of 33 teams of single knock
out tournament :
(1) 21
(3) 31

2) 1
4) 32

Which among the following is the
oldest philosophy of
Education ?
(1) Idealism
(3) Realism

Physical

(2) Naturalism
(4) Pragmatism

The cognitive reason of Plateau in
motor learning is :

(1) Lack of concentration

(2) Overload

(3) Change in Coaching method

(4) Chronic injury

P.T.O.



[A]

115.

116.

117.

118.

119.

gfeedl @1 dH-a gt @l
s s 72 S ® 7

(1) Hfesq, Afrer g wed a9
(2)1@3&,%@??{@%@

(3) Emafesk S, Hfgad g Al
(4) A, Wed o9 9 RS
o

g’zgmzﬁﬁﬂﬁﬁeﬁ:rwamqﬁum
(1ﬁﬁrﬁam,ﬁamaﬂwmﬁw

(2) gHIM, SR SR AR
(3) g, R oiR i w9
(4) e, qERE SR SR &

‘wig @ i Hea ® ¢
(1) Brecs FEeT &

(2) AR GiET A

(3) ST (37e<a) ST
(4) T (|fse) afwerer @

el o1 o B £ B i o D | B SR G LS|
4 qRafed BiF diil STy i A
FEd ©

(1) GURHE TRE=R

(2) e STEaH

(3) GIRHE TR

(4) B A

AR fopa geeredYr fee e H
g & ?
(1) I &7
(2) ARTSs &
(3) & &
(4) BFEE &=
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115.

116.

117.

118.

119.

Which group of bones are not

movable portion of skull ?

(1) Mandible, Maxilla and Frontal
Bone

(2) Mandible, Frontal Bone and
Zygomatic Bone

(3) Zygomatic Bone, Mandible and
Maxilla

(4) Maxilla, Frontal
Zygomatic Bone

Bone and

Communicable disease is the result

of which three factors ?

(1) Causative agent,
Environment

(2) Smoking, Diet and Alcohol

(3) Age, Sex and Ethnic Group

(4) Pregnancy, Puberty and Immune
System

Host and

'Speed Play' is a part of :
(1) Fartlek training

(2) Weight training

(3) Interval training

(4) Circuit training

The amount of air that is inspired or
expired in one normal breath is :

(1) Pulmonary circulation
(2) Minute volume

(3) Perfusion of lungs

(4) Tidal volume

Agnisara kriya directly helps in the
regulation of :

(1) Abdominal Region

(2) Brain Region

(3) Heart Region

(4) Lungs Region
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Y o

SHgvlh <l

gl AT B

(4) e AR SfegE a4 At
gﬁwam%mmﬁaﬁiﬁm

(1) s g ¥
(2) 3 g ¥
(3) I offer= H
(4) TF oTfes #

Affus I H Fared YR
‘T ST T foham T o

(1) 78 1975 ®
(2) BT 1896 &
(3) ST 2016 H
(4) Fa=X 1920 §
T @@ e & gAldereE |
%aa—g SYART R S B 7
(1) ifqes fefeen @
(2) GIRITh FEH Hl
(3) a Feferear @
(4) TEZEAWG &

1 § 9 d9-d@ e ST &
foe @tk it fomh & 7

(1) cfig st

(2) dfefEa

(3) do o THo THo

(4) & sl

fasg & <9 Y& RaeSl 397 a7 aer =
T G #

(1) A AR Jefies

(2) g IR M A

(3) efves oiv Ava 24

(4) Ipedid oY ommRe®
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122.

123.

124,

125.

[A]

Eysenck Personality scale measure :
(1) Introvert

(2) Extrovert

(3) Personality Development

(4) Both Introvert and Extrovert

The inferior vena cava empty their
blood into the :

(1) Left Ventricle

(2) Right Ventricle

(3) Left Atrium

(4) Right Atrium

The highest award in the Olympic
Movement 'Olympic Order' was
established in :

(1) May 1975

(2) April 1896

(3) August 2016

(4) September 1920

Rehabilitation of Sports injuries is
done by using :

(1) Physiotherapy

(2) Corrective Exercise

(3) Cryotherapy

(4) Hydrotherapy

Which of the following is considered
as an active form of warm up ?

(1) Oil massage

(2) Callisthenics

(3) T.E.N.S.

(4) Russian Diathermy

Chen Long and Ma Long are worlds
top ranked player of :

(1) Tennis and Badminton

(2) Tennis and Table Tennis

(3) Badminton and Table Tennis

(4) Basketball and Gymnastics

P.T.O.
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129.

130.

Diuretics in sports is use for :

(1) To increase muscle strength

(2) To reduce muscle tension level

(3) To bring in blood
circulation

(4) To lose body weight

stability

The Indian Olympic Association was
formed in :
(1) 1926
(3) 1952

(2) 1927
4) 1983

During the strenuous exercises, the
major reason for the onset of fatigue
is:

(1) Glycogen depletion

(2) Carbon dioxide

(3) Oxygen debt

(4) Lactic acid formation

'Pyknik' is one of the body type as
classified by :

(1) Sheldon
(3) Bucher

(2) Kretchemer
(4) Thorndike

Match List-I with List-II and select
the correct answer using the Code
given below :

List-I List-11
(a) A.LF.F. (i) Hockey
(b) F.IN.A. (i1) Table Tennis
(c) T.T.FL (ii1)) Swimming
(d) H.I (iv) Football
Code :

@ b (© @
(H @ @) @G @Gv)
2 @  Gv) (@) (i)
(3 av) (@ @G (@)
4) Gv) @) @G @)
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131.

132.

133.

134.

[A]
Skeletal muscle fasciculus
covered with :
(1) Endomysium (2) Epimysium
(3) Perimysium (4) Endo-epimysium

are

Criteria of Test does not depends
on:

(1) Correlation (2) Objectivity
(3) Reliability (4) Validity

Arrange the correct pairing of
current active members of
International Olympic Committee
from India :

L. Kiren Rijiju

M. Nita Ambani

N. Rajyavardhan Singh Rathore

O. Dr. Narinder D. Batra

() L&M 2) M&O
(3) N&O 4) M &N

Match List-I with List-II and select

the correct answer using the code

given below :
List-1

L Surplus

List-1I
Schiller &
Spencer

energy (i)
theory of play

M Cathartic
of play

theory (i) Lewin

N Infantile Dynamics (iii) Piaget

theory of play
O Cognitive theory (iv) Freud
of play
Code :
L M N O
() i) @ G @Gv)
@ o G aGv) ()
3 @  Gv) (1) (i)
@ av) @) (@) @
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135.

136.

137.
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139.

140.

Which State to host 39th National
Games in 2022 ?

(1) Goa (2) Jharkhand
(3) Uttarakhand (4) Meghalaya

For boys, the height of Bench in
Harvard Step Test is :

(1) 15inch (2) 20 inch
(3) 25 inch (4) 30 inch

If an individual nerve fibre plus all
the muscle fibres are innervates
nerve then it is called :

(1) Synaptic transmission

(2) Motor unit

(3) Motor endplate

(4) Reciprocal innervation

Limbering down in sports means :
(1) Short sprints

(2) Wall climbing

(3) Relaxing

(4) Warming up

When muscle contracts at a 'Constant
Speed' over a full range of movement
against a variable resistance, it is called :
(1) Isotonic Contraction

(2) Isometric Contraction

(3) Isokinetic Contraction

(4) Constant Contraction

The utilization of oxygen by the cells
to produce energy is called :

(1) External Respiration

(2) Internal Respiration

(3) Cellular Respiration

(4) Pulmonary Respiration
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142.

143.

144.

145.

146.

[A]

The responsible part of reflex action
and communication between the
brain and body is :

(1) Skin (2) Spinal Cord
(3) Eyes (4) Ears

Path of Projectile is :
(1) Force (2) Motion
(3) Friction (4) Parabola

Select the correct combination of traits
denoting "Yama'in Ashtang Yoga :

L. Ahimsa and Asteya

M. Tapas and Swadhyaya

N. Brahmcharya and Aparigrah

O. Shauch and Santosh

() L&M (2) L&N
3) M&N 4 N&O
When an athlete uses several

different types of Steroids at the
same time, it is known as :

(1) Cycling (2) Stacking

(3) Pyramiding (4) Mixing

Negative transfer of training is also
known as :

(1) Neutral transfer

(2) Zero transfer

(3) Bilateral transfer

(4) Habit interference

Wound of skin is :
(1) Abrasion (2) Contusion
(3) Laceration (4) Fracture

P.T.O.
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147.

148.

149.
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Lateral deviation in spine are

measure through :

(1) Vertebro graph

(2) Scoliometer

(3) Infra scolio

(4) Gonio spine

A prokaryotic organism that causes
TB, Plague and Cholera is :

(2) Virus
(4) Fungi

(I) Protozoa
(3) Bacteria

Starting from the first host select the
right option of hosts of Youth Olympic
Games in chronological order :

(1) Singapore, Buenos
Aires, Dakar

(2) Beijing, London, Rio, Tokyo

Nanjing,

(3) Buenos Aires, Dakar, Singapore,
Nanjing
(4) London, Rio, Tokyo, Paris

Acromion Girdle injury to fast
bowlers occurs at :

(1) Elbow joint

(2) Wrist joint

(3) Hip joint

(4) Shoulder joint
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